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SEBI Grade A English Language (Solutions) 
 

Solution (1-5): 

 

 

S1. Ans.(b) 

S2. Ans.(d) 

S3. Ans.(d)  

S4. Ans.(c) 

S5. Ans.(a) 

 

S6. Ans.(e) 

Sol.  

 
 

S7. Ans.(b) 

Sol. 
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S8. Ans.(c) 

Sol. 

 
 

S9. Ans.(b) 

Sol. 

 
 

S10. Ans.(c) 

Sol. 

 
 

Solutions: (11-15): 

Months Friends Cars Fruits 

March/July A U Mango 

June B Z Muskmelon 

February C W Kiwi 

May D S Guava 

January E V Pomegranate 

March/July F Y Cherry 

April G X Orange 

 

S11. Ans.(d) 

S12. Ans.(d) 

S13. Ans.(e) 

S14. Ans.(d) 

S15. Ans.(a) 

 

S16. Ans.(e) 

Sol. Suggestion or direction to young officers by the officer is aimed at 

making the new recruits aware of their responsibilities. Assumption I 

can’t be co related with the above statement. Assumption II is an 

assumption; this is what leads to adverse comments. Assumption III is 

not implicit.  
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S17. Ans.(a)  

Sol. Only assumption I is implicit. III is not implicit because the reason behind this decision is that the 

witnesses or victims can’t be felt any problem regarding the case. They can be pressurized by the accused 

to change their witnesses. The decision is not given because of the court’s immediate concern for the 

victims. 

 

Solution (18-20): 

 
 

S18. Ans.(e) 

S19. Ans.(a) 

S20. Ans.(d) 

 

Solution (21-25): 

Students let us understand the Logic behind this Question and lets understand how to solve it. As a first 

step lets first understand the logic behind the Output. If you will see the final output you will observe the 

following:  

(i) The machine rearranges one element in each step 

(ii) Firstly, the odd numbers are arranged in descending order in each step. 

(iii) After this, even numbers also arranged in descending order. 

(iv) After the arrangement of all the numbers, if 1st letter of word is vowel then it is arranged in alphabetical 

order in each step. 

(v) After the arrangement of vowels, the words starting with a 

consonant are also arranged in alphabetical order in each step. 

Input: with 17 shout 58 93 over inter year 22 

Step I: 93 with 17 shout 58 over inter year 22 

Step II: 93 17 with shout 58 over inter year 22 

Step III: 93 17 58 with shout over inter year 22 

Step IV: 93 17 58 22 with shout over inter year 

Step V: 93 17 58 22 inter with shout over year 

Step VI: 93 17 58 22 inter over with shout year 

Step VII: 93 17 58 22 inter over shout with year 
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S21. Ans.(c) 

S22. Ans.(c) 

S23. Ans.(d) 

S24. Ans.(d) 

S25. Ans.(c) 

 

Solution (26-30): 

 
 

S26. Ans.(a) 

S27. Ans.(d) 

S28. Ans.(b) 

S29. Ans.(d) 

S30. Ans.(c) 
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